EARAROBEEIERT — 2 N— IBISH —F

20185F5A31H (k) 2EI#E#4H

Bl >%3% = 307L75%%%

‘ (] 8 ‘ [EmmEl  — | 4 () 14000 B

[A~&£] 17 :1,100,000  ~ 23 :385,000 37 :220,000 3

4 7% :165,000 F 5 3& :110,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
FREER :33. —4-3- . — FEAEE (GEF)
i o | P=LLTIL 3 z 1(3_3)8 3-4-3-3 | 39.5 1 (4+713; %J:N%ﬁz
R:BALINT Ry TR B:T7—YaTl)— =2 =N
# 3 | BHB 1:34.1 2-2-2-1 [39.9| — | 5 | 462 |FEEREL (aHB)
olgl11| Vv /7Y 56.0 (1 1/2) (-5 |#BE—
L:Jr7—3UT7> B:T7-3I-N—a HEF IS
“ 4 3 | WiEBETL 1:34.5 4-3-4-4 | 40.3| — 3 a1 | BEOFE GEF)
31111 I FF—L 54.0 @ 2 ) T—Y1XZXFLX
g/ XLy v B:ZUUDILTp TAXZXEy RFR &+
= N KHEZ : —1-1- — KEFEE (EF)
4 3|75y oAu—7 4 3 i 1(.13/42.)6 1-1-1-2 | 40.5 2 (ﬁi) &ijgrsf,é)?;ag
R:TZyIaAK BiXLvy /AT A RAIER  SRTHME
A . 43 | DIEEANIE 1:35.7 1-11-8-9 | 39.0 | — 7 469 | FRARE (AFN)
518l12| ¥ v —-UT> 56.0 ®) -5) Pl i P (#%)
Liwhvzry BYFRINAIH—IL HET7— L
S SN > 3 | BAEK 1:35.7 5-5-5-5 |39.6 | — 9 442 | SAARBEIZ (RFn)
6l5|5|7>F—~x24 77| 5.0 (78 (1) | WAHER
RN—HNE BiAL2amsadh =it
S 4 3 | 2EER 1:36.2 7-7-7-6 | 40.1| — 11 467 | Wiy (AFn)
] 4 7 ANV 56.0 (2 1/2) 1) MEMK
LI INATA—H— BV HET77—L4
S — # 3 | EHEX 1:36.4 8-9-12-12 | 39.5| — 10 442 | BRO—RE (GE#0)
87|10 77~V =T 54.0 (3/4) RS
LFkrTFEby—L BivUA APANY T4 W KT 7 — LR
. . FERE :36. -12-11- . - FEHAEE (GEF)
9 2| 7% Tk 3 % (/gg;t 12-12-11-11 39.1 4 :1+851) T\"}.’:.’T;‘;
TGRSy b BILAHCNT TV HH BE
S A FEBA :36. —6-6- . — AR (GEF)
1017 9 TY—T A= 4 3 G 1(316)6 6-6-6-7 | 40.5 12 (ﬂl) s
L:hT /K747 B:I4 st IUFL T4
; 4 3 | BATHER 1:36.7 10-10-10-8 | 40.0 | — 6 474 | EEBEFN (AN
EH g ¥reLT 5.0 7€) (45) | AHTFE
LI INATA—h— B:UXxHtwLT Eleikie]
5 . i 3 | HTHER 1:37.1 9-8-9-10 |40.4| — 8 435 | BRI (fRAE)
12|5|6 | EXTvF= 54.0 @ Ca | ® EsbU-g-z5v7
R:271T7 hALY b B:ELYZX 2= FHi5
® I —F—EBIERL
13=zr= 3,11,2,1,5,9,4,10,6,8,12,7
Aol=5r= 3,11,1,2,5,9,4,6,10,8,12,7
G§a=7r= 3,11,2,1,5,9,4,12,6,8,7,10
A== — 11,3,2,1,5,4,9,8,12,6,7,10
[ RN
B OB 2 140 714K 2-11 260M e & 2-8 650M &R 1-2-11 990HM
7 B 2 100 1-2 210 | | # & 2-8 900M | | E=H 2-11-1 3,210M
1 170 1-11 620 B E 2-11 640/
1 140M B H 2-11 920M

ABICOVWTRDTEEERROODE. TR LIV,




